Service Provider: Crawford Childcare Ltd.

Programme Year: 2025/2026

Status: Active

Fee Options

Fee Type Name	ELC/SAC	Age Range	ECCE Available?	Session Start Time	Session Finish Time	Second Session Start Time	Second Session Finish Time	Incorporated Services?	Choose Incorporated Services	Additional Information	Hrs:Mins per Day	Days per Week	Hrs:Mins per Week	Weeks per Year	Full Fee	Fee (with ECCE deduction for 3 free hours)	Effective From	Effective To
Full time (>5 hours per day)	ELC	Oy 11m - 1y	No	07:30	17:30			Yes	Meal	Breakf ast & dinner (in the middl e of the day) includ ed. All other food & drinks (exclud ing water) to be provid ed by parent s.	10.00	4	40.00	50	240.		18/08/2 025	

Full time (>5 hours per day)	ELC	Oy 11m - 1y	No	07:30	17:30	Yes	Meal	Breakf ast & dinner (in the middl e of the day) includ ed. All other food & drinks (exclud ing water) to be provid ed by parent s.	10.00	2	20.00	50	120.	18/08/2 025	
Full time (>5 hours per day)	ELC	Oy 11m - 1y	No	07:30	17:30	Yes	Meal	Breakf ast & dinner (in the middl e of the day) includ ed. All other food & drinks (exclud ing	10.00	5	50.00	50	252. 13	18/08/2 025	

									water) to be provid ed by parent s.								
Full time (>5 hours per day)	ELC	1y 1m - 6y	Yes	07:30	17:30		Yes	Meal	Breakf ast & dinner in middl e of day includ ed . All other food & drink (exclud ing water) to be provid ed by parent s.	10.00	5	50.00	50	234.	169.54	18/08/2 025	
Full time (>5 hours per day)	ELC	0y 11m - 1y	No	07:30	17:30		Yes	Meal	Breakf ast & dinner (in the middl e of the day) includ ed. All other food & drinks	10.00	3	30.00	50	180.		18/08/2 025	

									(exclud ing water) to be provid ed by parent s.								
Full time (>5 hours per day)	ELC	1y 1m - 6y	Yes	07:30	17:30		Yes	Meal	Breakf ast & dinner (in the middl e of the day) includ ed. All other food & drinks (exclud ing water) to be provid ed by parent s.	10.00	4	40.00	50	216. 36	164.76	18/08/2 025	
Full time (>5 hours per day)	ELC	1y 1m - 6y	Yes	07:30	17:30		Yes	Meal	Breakf ast & dinner (in the middl e of the day)	10.00	3	30.00	50	161. 98	123.28	18/08/2 025	

									includ ed. All other food & drinks (exclud ing water) to be provid ed by parent s.								
Full time (>5 hours per day)	ELC	1y 1m - 6y	No	07:30	17:30		Yes	Meal	Breakf ast & dinner (in the middl e of the day) includ ed. All other food & drinks (exclud ing water) to be provid ed by parent s.	3.00	2	20.00 15.00	38	108. 24	82.44	18/08/2 025	
Session al AM	ELC	- 6y	162	09:00	12:00		INU			3.00	3	15.00	36	U	U	023	

9am - 12																
noon																
Term																
Time																
Only																
ECCE	ELC	2y 8m	Yes	12:30	15:30		No		3.00	5	15.00	38	0	0	04/09/2	
Session		- 6y													023	
al PM																
12.30p																
m - 3.30																
pm																
Term																
Time																
Only																

Fee Extras

Туре	Extras	Amount	Frequency	Other	Description	Additional Details/Conditions	Effective From	Effective To
Discount			Weekly		Management may apply a		18/08/2025	
					discount for children of			
					staff attending the service			
					on a case by case basis.			
Optional Extra	One Paid	40	Once Off		Annual school tour for	Fee confirmed one month in	04/09/2023	
	Preschool Trip				ECCE children.	advance but will be no more than		
						€40 per child		
Optional Extra	Food	10	Daily		€10 for dinner for children	Children who do not attend full	21/08/2023	
					not attending full days	day (> 5 hours) can avail of dinner		
						in the middle of the day for €10 per		
						day.		
Deposit		0			No deposit required to		21/08/2023	
					avail of NCS scheme			
Additional		45	Daily		€45 per extra half day	€45 per extra half day (up to 5	21/08/2023	
Services						hours on the same day		
						concurrently) for children over 1		
						year.		
Additional		50	Daily		€50 for extra half day for	€50 per extra half day (up to 5	21/08/2023	
Services					children under 1 year	hours on the same day		
						concurrently) for children under 1		
						year.		

Additional Services	60	Daily		€60 per day for extra day (> 5 hours) for children under 1 year	€60 charge for children under one year who wish to attend extra days, subject to availability	21/08/2023	
Additional Services	10	Other	€10 per hour	€10 per hour for extra hours of care	Subject to availability, €10 per hour for extra hours of care for children not attending full time.	21/08/2023	
Additional Services	20	Daily		Late collection fee	A late collection fee of €20 per hour or ther part of will apply after two incidents of late pick-ups	21/08/2023	
Additional Services	55	Daily		€55 per day for extra day (> 5 hours) for children over 1 year	€55 charge for children over one who wish to attend extra days, subject to availability.	21/08/2023	
Additional Services	500	Once Off		Booking enrolement fee - refundable	Our standard enrolement policy applies & can be viewed on our website www.crawfordchildcare.ie under 'parent info' tab A €500 fee is required to secure a private place in the service. This is refundable with one full calander month's notice not to take up the place or if a child decides to leave. No additional deposit is required for the NCS scheme.	21/08/2023	
Discount	0			We do not provide any discounts.	We do not provide any discounts.	28/08/2023	
Deposit	150			The ECCE deposit will be refunded once the child's ECCE registration has been approved on the HIVE. ECCE deposit must be paid for each year on the scheme and cannot be rolled over . If a child fails to take up the ECCE place for any reason the deposit is forfeited.		11/11/2024	